Задание на 29.01.2016 г.
Алгебра
Задание № 5
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Haiinure kopens ypasienns: log, (3 ~2x) = ~4.

Halture xopens ypapwenms: log, (10 - x) = 3.

‘Hajiure KOpeHs ypaBHeHHS:
Haiiure Kopems ypapmenus:

log, (14 - 2x) = dlog, 3.
log, (3 - %) = 2log, 4.
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766. Hattuure xopens, ypasmesua: (5200 = 75

A T
767. Haligure xopexs ypasemns: \[g=2 =77
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Haliqure Kopens ypapHeRus:
‘HaliuTe KOpeHD ypaBHERHs:
Halizure KopeHs ypasHerus:
‘HaiiuTe KopeHs ypasHexms:

Haiigure Kopexs ypasesns:
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7

x
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803. Halinute Kopens ypaHesus:

804. Haituurre Kopens ypasmemws:
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838, Haizure xopess ypapmermms: x

Fonn ypasmemwe wmeer Go7ee OHOTO KOPHS, B OTBeTe
yKasuTe Gombmmit W3 HUX.

%27

839, Haiigure xopers ypasmenms: x = 22
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954,

955.

Haitaure xopers ypasnenmn: 54— 3x = —x. Ecma ypas-
HeRe MMeeT Goee OAROTO KOPHA, ViaNHTe Combmmmit H3
X
Hajigure xopems ypasenus: 30— x = -x. Eomn ypas-
HeRue uveeT Golee OTHOTO KOPHS, VKaHTe Corbmuit W3
p—
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992. Haiigure Kopems ypasemus: cmw - % B orsere

BAIMMIIHTE HAMMEHEIIMH TOIOKATENLHEI KODEHb.
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725. Haiinure xopers ypasesus: log,(3-x)=3.
726. Haitmure xopens ypasemusa: log,(6-x) =5.
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729. Haiinure xopens ypasnenus: log,(15-x) =log, 2.
730. Haiimume Kopens vpapuenns: log (17 - x) = log 13,
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733. Haiiqure KOpeHb ypaBHemms:
734. Haiizure Kopems ypasnesus:

735. Haiijare Kopess ypapHeus:
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738.

739.

740.
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742,

743.

744.

Halinure KopeHs ypasHesus:
‘HaliznTe KopeHs ypasmesms:
Hajire Kopess ypasmemis:
Haitmire xopess ypassess:

HadinnTe KopeHs ypasHesus:
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750. Haiigure kopens ypapnenns: 34 - 3x = 4.
751. Haiignre Kopens ypapremus: v3x + 43 = 13.
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757. Haiimute kopens ypaswenus: log,(x + 8) = log, (3% ~ 15) .
758. Hailzure kopens ypaswenns: log,(x + 4) = log, (5x - 16) .




